IlepeyeHb OCHOBHBIX jleTaJjell U Y3JI0B
MAIIMHBI (ppe3epHOii dJeKTPUIECKOil

YTBepxknato

M3®-1,6-01 TexHudeckuil UPEKTOp
3
II. Hanmenosanue K. Anncenkos O.A.
“ 2014r.
1 BunTt «camopes» 4x14 10 _—
2 Kpeinika a1, iBuraresst 1
3 Jpoccenn 2
4 | Bunr «camopes» 3x10 4 43 | Taiika cnen. M15 1
5 | llerka (6,2x10,9x16) 2 44 | Ilpyxwuna (7x16x0,7) 1
6 I1leTkoepKaTenb 2 45 Cromop B cbope 1
7 Yuop 4 45.1 | KnaBuma cronopa 1
8 Bunt M4x90 4 45.2 | Cromop 1
9 | Kopnyc s aBurarens 1 46 | ®ranen 1
10 | Crarop 1 47 | Buntr M4x18 4
11 | Bunr «camopes» 4x70 2 48 | Ilpyxuna konnyeckas | 1
12 | laii6a 4 2 49 | llanra 1
13 | Yxaszarens riy6unsl B 1 50 [ Ilmardopma B cbope 1
coope 50.1 | INmardopma 1
13.1 | Cnen. BUHT 1 50.2 | Hanpasnsomas 2
13.2 | Tounas mkana 1 konorka H=120 mm
13.4 | Ipyxuna (9,5x36x0,8) 1 50.3 | ®dukcarop S3M6x15 2
13.5 | Hampasnsromias 1 51 T"aiika 3akuMHas 1
BTYJIKA CO IIKAJION 52 | Okpan 1
14 | dmadparma 1 53 [ Coen. Buntr M6x5 1
15 | Homummnuuk 608 Z 1 54 [ Llaiita 8 1
(7x8x22) 55 Puxcatop riIyOHHBI 1
16 | Sxopb 1 56 lapuk @ 5 1
17 | Koublio cromophoe 14 1 57 Ipyxuna (6x10x0,7) 1
18 Buut M4x8 9 58 BuHT 3axumMHON M5x12 3
19 | Ilaii6a npyxuHHas 4 7 59 [pyxwuna (7x10x0,6) 3
20 | IInata perynupoBaHus 1 60 [ Hanpasusomas 2
000pOTOB 61 Mpyxwuna(12,5x225x1,5) | 2
21 | Brynka 2 62 | Ocuoanme momomBe! 1
22 | Kpsblka JIeBoH pydKH 1
23 | Bunt S5M6x12 4
24 | Kopnyc j1eBOH pyuku 1
25 | CromopHoe Koiblo 16 2
26 | Ilnactuna 1
27 | Brynka pe3s0OoBast 1
28 | IlpyxuHa kpy4yeHUs 1
(16x12x1,5)
29 | Pwryar 6J0KHPOBKH 1
30 | Bunt M5x14 1
31 | Illaii6a 6 1
32 | Illaiiba npyxuHHas 6 1
33 | Inuyp ceresoii 2x1;2 m 1
34 | TpyOxka 3anurHas 1
35 | IlnactuHa mprwKUMHAS 1
36 | BuHT «camopes» 4x12 2 WNxenep-TexHomor
37 | Bemouarens 8A;250B | 1 Kosnos ILA.
38 | Konnencatop 1
0.22 ud; 275Bu [ IaBHBIA KOHCTPYKTOP
39 [ Kopnyc npaBoii pyuku 1 Terpos B.T.
40 | Kpslika npaBoii pyduxu 1
41 | Hommmmnauk 6202 RS 1
(11x15x35)
42 | Kopmyc 1




	Перечень основных деталей и узлов 

